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Note : (i) All the questions are compulsory. 

(ii) All the questions carry equal weightage. 

1. Answer the following question in about 
600 words : 

Critically examine how vocational education has 
been visualised in National Policy on Education 
(NPE-86). Also cite the main recommendations. 

OR 
Discuss various support systems which can be 
used to manage vocational education at the 
national level. 

2. Answer the following question in about 
600 words : 

Discuss various factors which obstruct effective 
implementation of vocational education in India. 
Suggest how such factors can be overcome. 

OR 
"Public - Private Partnership (PPP) is crucial for 
improvement of vocational education system in 
India." Do you agree with the statement ? Justify 
your answer. 
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3. 	Answer any four of the following questions in 
about 150 words each. 

(a) Discuss issues and concerns of vocational 
education system in Australia. 

(b) Describe briefly the key elements involved 
in strategies meant for improving public 
training. 

(c) State the major issues involved in skill 
development. 

(d) Explain why universalization of vocational 
education is needed in our country. 

(e) Mention the objectives of National 
Vocational Qualification (NVQ) system. 

(f) Differentiate between work education and 
vocational education. 

	

4. 	Answer the following question in about 
600 words : 

Suppose you are asked to design a Vocational 
Education and Training (VET) system for life-long 
learning. Discuss the various aspects you will 
keep in mind while designing such a VET system. 
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